2024 EEHELFREGEFEKSE [24340710]

2024/6/8 ~ 2024/6/9

RBEE—ER

2 AmRERR—VEVI—ELHBE

I ATk LEHRS

HME AW BEWOREEELE EEABESERAFEEREMRTE

BHE W BA
[MEEF]
F A i Hl 17 2fir 307 A7 50 6{7 L 8{
6HsH IV T100m EEZEVPNO) 13.66| F4#F #FH(5) 15.38[ &l A (6) 16.05| A 4 (6) 16.19| K WE=}H(5) 16.85 [fH1E# B2 A(4) 17.92|ka A Fititk(4) 18.43
Ji:-2.6 ;;"LJAC S0 |<KIJAC <HJAC <HJAC <HJAC <HJAC <HJAC
RH 66) 3:08.95|#17 Ha—HE(3) 3:29.27
Sl I £ (97X BT A —b77
<HJAC A 59.83[<AJAC B 1:09.53
RS2 (6)) [ihe - SN CY)
6H8H JINF B H-4X100mR EifF #A(6) KA Bk (4)
FA TEI6) RJ2 BERG)
SRS PNO)) JEEH {£i(5)
[/hEF]
H i H JUA 27 3fL T 5{7 67, 7 87
6H8H N L T100m EH EEAG) 15.26-1L7)|kaE #TG)  16.64CLD[/IME EKG)  16.70-1.0)|fEA FELG)  16.88CL7)|MEG LFIG)  17.26-0.8)[ A HEAG)  17.72-1.7)[HH EAEB)  18.11(-0.8)[4¥ BEALM4)  18.66(-0.8)
] <HJAC <HJAC <HJAC <HJAC SIYAC HE RO g/ <HJAC <HJAC
6H8H N4 7-800m EEEEEO) 2:54.40[{5  LH0(5) 3:01.99|F4n FEZAR(4) ERSIZI ISFEE S IO 3:26.46
) <HJAC <HJAC <HJAC <HJAC
<HJAC A 1:06.53|[<AUJAC B 1:08.78|<AJAC C 1:09.55
i EAEG) Bpep FHIAZR(3) S BER@)
67381 ANELFAXI00mR  |ARE HET(5) I LvG) P FEAR(4)
A 2E6) B EAW LA (6))
FH EEKEG) EFidSer(0) R FEKGB)




2024 FEFEEHEEFFHEEFEKRS [24340710]

2024/6/8 ~ 2024/6/9

REREE—E

&

=i ATRAERR—
I AmEREEEES
R AT ATOIRGEEE EEMRSFHRETEHEMRTH

VLR LEER

BHE W BA
[PFEF]
A i Hl 1 2fir 307 A7 50 6{7 L 8{
65198 12 5 -100m ?/T\ TEAE®B) 1156 [fa R #ER(3) 11.82 (38 BEA(3) 1198 [ RRE(3) 12.02|RF #0H3) 12,11 [fadE SRE(2) 12517 AHER) 12.52 (1Ll F1pf(2) 12.64
JA\:-0.5 {5 R e i A HUM R [ER B o] 2 v
6JI8H 12 5 7-200m ?A T&AE®B) 23.37 [ BEA(3) 23.63 [ RRE(3) 23.83[fn R HER(3) 24.43| 9 JRFA2) 2477 (1Ll FAPE(2) 24.96
Ji\:+3.0 SR SR A R #ﬁw{ﬂ a2 et
6H9H 1 400m N% HAG) 54.40 P HAHR(3) 55.54| A () 572434 FIK@) 57.64] 59.47|7K M FLE) 59.54| & K AA(2) 1:00.77|#4B AF1(2) 1:06.49
B [ i Rk #ﬁw{ﬂ L i R
6HsH - G Hith(3) 2:08.92[ I BEAHE(3) 2:13.05[iA £ —FR5(3) 2:18.31[HIE  FH#H(3) 2:20.42| A A (3) 2:20.46| /= FH—#(2) 2:20.52|75H #E(3) 2:20.79| I JE¥A3) 2:21.38
R R A HH AR =77 L JiH g
6H9H S 1500m I SH(3) 4:13.36| KW #ith(3) 4:26.82 MT FAB) 4:34.62| )11 SE15(3) 4:38.51 [s wxrsin <ros cow 4:44.58|4f)11 A (3) 4:46.93|#k TEE(2) 4:48.72| 5 FI—1(2) 4:49.98
SR T | e i fne T B JiH g =5
6JI8H 15 7-3000m ke H(3) 9:19.57[AF)1T HIAfi(3) 10:12.03 **J HAKQB) 10:18.54|H B Z5.0:(3) 10:42.74 |5 Fk KHEL(3) 10:43.27|'5A FEKHR(3) 10:58.94 | #Rlil #& A (3) 11:01.99[ %215 $5(3) 11:02.47
— E}rﬁﬁy — K& ?)EE:P — o akin e JRH g L e Rl ki
G 18.23[JI1 (2 21.08
6H8H llUmH(]%?i-;l)H’l{Q.l-’lm) ek WA
[ 46.28| 1 i 47.35 | 50.34 | F1AEH 50.53 | B[4 50.86 | [< Hi gL 51.62[FiH= B 57.76
AP NG FESE FNEZ2) ITUH TY—Z N(2) =R RHE(3) AR FER(2) JEA S (2) [UES PNTHEY)
6791 FEHFAX100mR - [SEE AEAK3) e BAG) HN FIRE) PrIEL JEIR@3) 2 I INC) = BER() RS (1)
R HAR(3) NI BEER2) ] &5 JILE HR2) PrA BiZE1) 1EPE 28(1) ke AF)(2)
o IEFAH2) A EER) I N N i ZNC)) Hi; FAIpE(2) AR Q) EA R
oron | by (E KU B {m5
6HSH FSpE—— MEFE, ®K(E)  5mé6CHLD[IAN FM(2)  5m3lG2.2)| A BER®)  SmOTGHL2)|HH BifQ)  5m05(+3.2)[FAA MAGR)  4m95¢HOA[HFAR fEMR)  4m9AGLD|ERE PRAG)  4m84C-0.H|RF D) 4mT5(+2.0)
bVt [FERANE was) axibivgkaL | B it 23384m94(+0.9)| 4Rk a2 e % FE A
GASH | 4 L (5.000ke) ﬁﬁ; EE’Z@) 8m33 %EA qj‘“%@) m70
[EExF]
H FlH U 2T 3L AT 5{F 617, 7 8fir.
6590 1242 7-100m IE B&G) 13.74| /R FnfEQ) TA1L{VE 0 MEHI(3) 4 1L{JEA Z2AB3) 14.34| A% MHA&ER) 1442 HREEER) 14.56|~FH HREA3) 14.67[1E FHEG) 14.90
A :-13 S ke B HEFnde SR R iR fnder SR R
6AsH 14 7-200m ARHE HEQ) 28.53[1E AUEQR) 28.98 |74 11 MEF(3) 29.42[1LfE FJH(3) 29.76| FH PEAR(3) 30.34 [ HEH THE(2) 3L50[|8EA A2 3185 /%) 32.66
R :+1.9 b FoE e ik R Srpgerp (OGS JRH g
6H8H 1 A F800m FIE =26 2:31.77| A #i©2) 2:34.25| R H O727=(2) 2:38.32|/M #EFF(2) 2:41.61|50c &) 2:43.10 (& WefE7(3) 2:43.77(MHE O05(2) 2:44.02[#4 Bin2) 2:48.19
SV AL 5 2 B R S SR JRH g
6590 12 A F1500m iy #EFQ) 5:18.41|HA Fi(2) 5:26.13|/Ma #EE(2) 5:39.85| Al WA (3) 5:44.91|[H O)5(2) 5:47.92|50c MhE Q) 5:48.08|5% FHE(2) 5:50.59|/NEs k() 5:53.25
I %;:qus() %Jﬁlq} — Tﬁq}h = s e S R HEFnde FHE
i osoom | e G 17.83#E)1 $hZ=(2 18.65 TR 19.54
6A8H 100mH<7_(iing 8.00m) rp i e e
HEFnAEH 56.92 [k 56.95FuHE A 58.46 F & 59.26 |15 1:01.70[FnEHB 1:02.94
wmE B Aoy sR AX% HTY=T 2k KR LATE() L AEHR(D) P K1) T B
6A9H 42 £-4X100mR H HEEER) JRE EE(2) IR RN JFEA Z2A(3) IR A% (2) W AEEA()
X e)) R H#(2) AR (2) I AEREG) iR Fift(2) WA )
P EFI) SESER 2 0)) e A 6)) AN ) HEH B Q) iy A1)
A9 R e ) Im33|JsA ZZ250) 1m25 <] F58(3) 1m25|/eJl FHR@3) 1m20|#RH H(2) Im10|AFf EHLE3) 1mO5[#iA & TA(2) 1m05
,h\EPT\EP AfE S A ke A K = K
6A8H ST— HE Q) 4m54(+0.6) [ - fEFB)  4m23GLE) AL HFQ)  4m04(+0.4)|AFT FEARLB)  4m04¢0.2)[bA BBEARQR)  3m99+0.7|HE)I #843(2)  3m82(+0.2)[f& k& BA(1) 3mB0(+2.2)[ILIA HE#E()  3m72(+1.0)
Pk SR FnrE E”fuittfﬂ JRH gL K B Fnde £3mT9(0.9)| ¥ 7
GHBH | et k.2 ke) BV k() 10m91|HIZE 152(3) 10m16] LA FEER®3) 9m41 | Tm58 [ FHEE Fn(2) 6m68 [ FLLABE(3) 6m22|fEH f5E2) 6mo7| K i (2) 5m94
) Pl R g A ffﬁﬁﬂqﬂ =Rl S e ke S A S AR
AR ZIL(2) 14365 [ HY F#i452) 945 5
6A8H LS S s N = R ] Hrhgerh

19.00(-0.4)-1m21-6m56-30.95(+1.9)

22.74(-0.4)- 1m24-5m45-33.93(+1.9)




2024 EEHELFREGEFEKSE [24340710]

2024/6/8 ~ 2024/6/9

RBEE—ER

& ATRARR—Yt SR LREIR
I AmEREEEES
R AT ATOIRGEEE EEMRSFHRETEHEMRTH

FHR W BA
[—&5F]
F i Hl 1 2fi 3fi AfiL 5 6fi ThE 8fi
6H9H —fF100m JEAR AFEM2) TLIG[HEI i ILA2[ AT #IR) 1158 =k ZEHK(1) LLTL| F - 2R3EM2) 1L.90| K% A1) 12.13| B A S(3) 12.13|7A K@) 13.24
Ji:-1.6 T B AR R IR~ AL —R B E TR B AR R R TR B AR R R B SR TSR
6HSH —J5 -200m TEA fEREG) 22.61 [N HR(Q) 23.19|l A SE(3) 23.74[RE #K) 23.91[/hH #iE 24.37[R T () 38.30
JR:+2.4 RN Y TSR SR B E SR B
6H9H A 7-400m R 22(1) 52.30 )11k HE&(3) 53.65 (& 1L KEA(2) 54.24 | Z2(2) 54.70|kaA Bk (1) 55.28 [#hiH PrA(2) 56.61 (71 1EA(2) 58.06
T B Ak R SE TR B AR R R HEHHE AT Yl B
6HSH A% 7-800m EE O] 1:55.05( & 11 HEA(2) 2:01.85| 5L R (1) 2:07.83| Hiff ZIL(M2) 2:09.43|#PHE DA (2) 2:13.65| KT BLL:(3) 2:18.51 %k FE(2) 2:29.66 | FIAQL) 2:36.64
B E T B AR R AT TR B AR R R Yl R S B SR R R IR
6H9H A5 F-1500m 7 EK2) 4:10.95[4r 0 24(1) 4:17.17 [ KRHIR) 4:24.43|'m 2 (D) 4:25.97 [T #EK3) 4:28.24[)11 J&(2) 4:31.00 (22 A FEE(2) 4:36.97 [ Kl 4:37.46
R TSR B B R IR B SribER
6H8H 4 5000m EIR R 15:35.48[#r01 Z2(1) 16:17.46[ K~ BiZ 16:32.85| 5z & H:AE(1) 16:50.43| FHEN A 16:54. 19 [{F Kt 17:11.02[ A $hdy 17:18.83 %10 ft—HK 17:37.86
) STl TSR Bl B Sl Sl A A
679 — %53 7-10000m ﬂjﬁj@%#% 37:10.76
I FE B9/ 18.25| K1 %#%(2) 19.94
6H8H llUI[lH(l,q?HIII/9.14III> = T
6A9R | %5 7-3000mSC(0.914m) ;@é’gﬁﬂﬂm 10:06.30 ﬁﬁgﬁﬁ‘f:ﬁ) 10:59.03
AL A 43,745 = HE 44.57| B U 4558 2 B 47.50 /K& 47.91
A1 3) B HQ) SEOSCRH3) JEEA CREREA(1) BWE ®IhnQ)
6A8H — 55 F4X100mR A KFne) KEF A1) JI7K EEQR) A %&2%E(1) ANGR=IIE RO
N HER(2) Ji2Q2) A 5(3) WA BER() B ZRIKQ)
[ N Z.NE)) 7 kL) AT BOLG) A $RAER) AR PRZ(1)
H=HHE 3:35.10| M LA C 3:40.63 | S 5 3:41.90| M2 5 B 3:52.91| S rfikl 4:05.28
i Z2Q2) Ji K@) SEOSCRH3) I 13) S Kt
6H9H —RSFax400mR KB (1) o 22 JIZK EEQR) A #52(2) OEH
b Ty 5(2) N HEK(2) ] A 3(3) WA $RA3) e R
P Hikk(2) AR BER) AT BLLE) R L) RSt
6A8H T— ALkr SERG) - 6mI3(0.6)[AH HED)  6m05(+0.5)|/NEF (1) 5ms6(+LDIFRH FHAM)  4m63(+0.2)|/M LR()  4m45(+1.9)
Ji B SR RK PN [IRVA= T N i
6A9H T AL S2RG) Hm73GLYPNEF 2B 11m02¢-2.2) [ HARBI1)  10m07(+2.0)
Ji s AR K (A JAFR10mI0C 17| T ST IR
A o6 I #13) 8m28|/NH  [FEIT(2) Tm33| 0 SCHH3) 6m10| 1l SEHE(1) 6mO5 [ H A (1) 3m82
6A8H | —MB FRa AL (7.260ke) AT e R i L
GAOH | — % -FAH2.000ke) EE gﬁiﬁ?) 21m77 #ﬁ ;;%(2) 19m02 g%é;;;%xﬁn(z) 18m57
eron | BIForv—g TR OKAR) 23m75[1IA FE5(2) 17m36
(7.260kg) HEHHE =5 IR Y
. WA $RER) 46mb52 [ 2 KRR(2) 43m68 [N A () 34m39 [T A5(2) 21m44
OS] TROBTOORG0D v R M A I S




2024 F FEETHE L FEEEFE KRS [24340710])

2024/6/8 ~ 2024/6/9

REFEHFR—ER 218  EHRARK—vELI—ELREE
T EnkEEEGS

HME AW BEWOREEELE EEABESERAFEEREMRTE

EHNRE WM BA
(—#%F]
At fiL A L 2 3 4z 50 6z i 8z
6A19H —HiLe 7-100m ZIEH BHHI(2) 1343 K% ZI1(2) 13.75 [k FEEA(1) 1R A1) 1455454 Jef(1) 1473 SE0k(1) 14.87
A:-14 B S [IERVAZ Y] SE B SE
6H8H —fRF200m i BFiI(2) 26.70| K AR 1-(2) 27.98(kM HEEA() 28.49| BRI (1) 28.86(FHHN (1) 29.18[4 A FE() 29.35
2.2 B A [IERVAZ Y] N1 THSEA B
659K A F400m - BFiI(2) 1:02.92 (T Z(3) 1:06.70| AFf HA®) LO7.87|II'F £H1(2) L:09.37[HIF  FE72) 1:19.31
S [IERVAZ Y] S S JE
6H8H A F800m S AED) 2:32.65| 1L #(3) 2:33.16[ KK HEG) 2:34.57[HIR H &) 2:39.54 (A A7H(1) 2:46.68((ETF FHA(2) 2:55.91
B [IERVAZ Y] il SR X S
6JI8H R F-3000m MR LT 11:19.36 [ #r23(1) 11:35. 12| AR % Fi/x 11:50.91 [tHf BRZR(1) 12:31.85(E % AHEQ) 12:57.89
I— 'T;&Jfgliﬁl%fﬁ = [ERVAZ Y — igﬂﬁl%ﬂ ) [iERA s S
. MBI 72L&k T2 20.38| i LA 28.03
68H lUUmH(U,&%iSH{/8.50m) i N Hv
S 52.38| S 58.41
R Z7(2) fEA (1)
6/18H —f A& F-4X100mR %M M) B 3Eme1)
HI™ 22H(2) EiEt TR
W P #i2) FHBR_FLE()
S 4:29.87[MNLEAE A 4:32.18[ LB 4:55.06
W B#i2) 5 () fEA (1)
6A9H | faxaoomr  [REE ZHR(2) HIME (E(3) P ELE(3)
R EH(2) M A1) I K1)
W 21 (@) e () EE TR
6HOH | kT Jﬁ: HRE®) Im45
/\!E'J
6HSH - JItE BHE) 5mETCLO)RE dfk(l)  4md5(0.6)[JX KA(D) 2m65(-0.5)
rh;/\;;;d?) 10 (TJ(])‘ A B H
. r m
6A8H | — il TRt $(4.000ke) I LR B
. . il - 5R(3) 33m77[EE ZZ7R03) 17m09
6/19F | —fido 7 P AE(1.000ke) )\“’Y{E&L/&U\ i?k/fﬁ@ : . -
; o Al Z225(1) 30mB5[iEH 272G 28m06 [ AF JEAXG 2Im71
OTSH| RATEOROND | psciepimc ik B KB




